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First Semester MBA Degree Exfani‘i:x\i‘a\t)ion, June/July 2018
Business Analytics
Time: 3 hrs. R~ Max. Marks:100
SECTION - A
Note : 1. Answer any Fi OUR\{ét\l\estions Jrom Q.No.1 to Q.No.7.
2. USE of normel distribution table and statistical table is permitted.
1 What are the common errors ifi n;‘twork diagrams? (03 Marks)
2 Discuss the importance( \of\liiusiﬁess Analytics. (03 Marks)
3 Differentiate between fréhéioortation and Assignment problems. (03 Marks)
4 What is meant EYiy‘:“/If’éctor Analysis”? Write the types of factor analysis. (03 Marks)
S5 Whatis LPP?Brleﬂy explain the applications of LPP. (03 Marks)
6 Wha ;-;-S;»;cé'rrelation and Regression? Explain the use of this in statistical analysis. (03 Ma{i&)
16 Listout the different measures of central tendency and explain them. (03M;rks)
SECTION - B {;
Note : Answer any FOUR questions Jrom Q.No.1 to QNo,7, ¢
1 Solve the following LP graphically, N

Max z = 6x, +8x,
Subject to conditions,
30x, +20x, <300

5x, +10x, <110
X, 2 Oand x,>( b N (07 Marks)

What is decision theory? Briefly explain about the ,:s_tej;'k\é‘\‘iﬁ.decision making process. (07 Marks)

Draw the network diagram for the followin ac"tivi&é"é: (07 Marks)
Activity A|BSLEYD|E] F G H
Predecessor | - |AA|B|B|B,C|B,C|D,F

What is “Data warehousing”? \.EX;\ﬁ\ei\‘m ‘ advantages and disadvantages of data warehousing.
) (07 Marks)

Calculate the mean, medium and mode of the following distribution:

Class Interval | 0—10 |40 20 [20-30[30—4040—-50 | 50-60] 60 —70 ] 70 = 80

Frequency 7,045 18 23 31 14 13 10
Ny i (07 Marks)
Find the standard deyiation by step deviation method for the following data: (07 Marks)
Class Iriterval | 0—10 | 10~20 [20—30[30—40 ] 40—50 | 50— 60 | 60 = 70 | 70 — 80
Frequency” 6 14 10 8 1 3 8
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Briefly explain about steps in designing single factor c_expﬁ?lt‘iﬁl\entation. (07 Marks)

SECTION - €
,  Note : Answer any F OUR\q‘ggégtiohs Jrom Q.No.1 to Q.No.7.

A company produces 2 types of hats. Ea“(;ﬁ{{;hdf of the first type requires three as much labour
time as the second type. If all hats are /of sécond type only, the company can produce a total of
500 hats a day. The market limits daily sales of the first and second type to 150 and 250 hats.
Assuming that the profit per hat;“;ijé ‘Rs. 8/- for type A and Rs. 5/- for type B, formulate the
problem as LP model in order to-determine the number of hats to be produced of each type so as
to maximize the profit. Solve graphically: (10 Marks)

A small project consis‘tfiiigtbf the following jobs whose time estimates are given below:
Job 122 8+-312-3]12-5]3-4[3-6[4-5]|4-6|5-616-7
Time (days) | 157 ] 15 3 5 8 12 1 14 3 14

(i)  Draw-anetwork diagram.

(ii) \Fmd the critical path and project duration. (10 Marks)

Fourg_pmféééors of each of capable of any one of 4 different subjects. Class preparation time ( in

\,

hours)for different topics varies from professor to professor and is given in the table. Each
~ f‘p‘;‘.éfé‘s;sor should be assigned only one subject. Find the schedule so as to minimize the total
1 \'subject preparation time/professor. (10 Marks)
- Subjects vk

8158558y S4 ANS
' Prl2 509
Professors P; [ 1545 R
Prl13 18 3611
Peld 13 13 8 o

The following table shows the jobs of a network along with théir time estimates: (10 Marks)
Job|1-2[1-6{2-3[2-4[3-5[4_5 6—-7/,8-8|7-8
to 1 2 2 2 i) 5 @G~ 3 8
et ek o8 tde o500 10| o5 dneled 3. | 17
tp 13 14 26 8 19 A2 ¢ 29 9 52
Draw the project network and find the probability of the project completing in 40 days.

(Take (0.8) = 0.2881)

Obtain the rank correlation coefﬁcien‘t:,bet‘v{;f’::en the variables X and Y from the following pairs
of observed values: QN

(10 Marks)
X150 55 |65 |50 [55%0862 [ 50 | 65 70175
Y | 110 ] 110 | 115 | 125 L3403 115 | 130 | 120 115 | 160
Explain briefly about deci.é{ig‘h making under risk and decision trees. (10 Marks)

The life time of a Certain electrical equipment has the normal distribution with mean 80 hours

and standard deviation 16 hours:

() What is:ﬂie/prbbability that the equipment lasts at least 100 hours?

(ii) If theequipment has already lasted 88 hours, what is the conditional probability that it will
lag{‘é‘t‘léést another 12 hours? (10 Marks)
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